Download From:

MASTERTEST.IR

slael Joeo o Ngils ali @l
:\r“h"r"ﬁ-‘\r"r\-"b"ﬁr‘h*ti‘b‘h‘h‘b‘h"b"ﬂ-‘h‘l‘h-"h-‘h"b"h-"b“h"h‘I-‘h‘b‘h‘h-\-'h‘b"i"b"‘b"l-"b"b*r"I-"hr"ﬁ-‘b‘h‘h‘b‘ﬂr‘b‘h"‘r‘h‘r*r‘b*r‘*r‘b‘i‘h*r*ﬂh‘h‘h‘h‘b‘b‘b‘h‘r‘h-‘b‘ﬂ
SRR
3 23]
E‘Eﬁ dmss pas > By oo ol SSos 39 kol 22 91 t‘.ﬁi
o ANV do2s (o) ivad pld pad
el £ b
»h) *eh)
»eh) 2 e
o) = Az w283 ) ot g s )
MWW \ Sl ot RS
tk%% Sapld g Slhied e gle 2oyl t‘{t}
A 2355 el i g a]
A *ew)
W TR e T S
P22 1*A4 Jhv = Sl gl v 1 il |5 Sloe 590 9939 u,ﬁJT e
»eh) »ew)
L8] e
b S as) )
b ) e
e o)
DA el
e >}
b )
W )
b 22 et
ey b
N »eh)
e o]
et o]
b »ew)
b, 1] i)
ey )
e )
b e
333 23
Eﬁi SVl ol g 3laad ¢ lowial 3lga ylgie EE@I
iy Bgled 0 | 2ylad 1 | Moo hoss Hoal dlgs whed, R
) = % S o
E{E e A T waeat g e ) | E{*ﬂ
953 Fe ™ - Conr b gl Fagll |y o ]
o , )
ek A £ ko T Rt 1 I el
223 3
. Y. Rt e Coms) s Colas godlis | f e
-"h-"h-"iq b‘b"{,‘\.
P V- ) Y. usj lagrea i | g o
333 e voe
R42 W= | 8 gt 6 Sy CEL g giglgn | F a0y
b = e
S 8
B3 2 [ WAL Jlo ole spaga ] o e
el i)
R N
t%ﬁ il s e wolans il 1 aaliza ﬁ;ﬂ
h'Mﬁﬁ!"'!"'!"‘?"\-''-"I' T T g T T '!"!""-'----|-'|-'I-'I-'I"I"!'!"F'—'!'-l------------"!"-"'I'-u--I--------w'-'---'|!"|I"-I----"l---------r"w"--"'!"-l---'----------r--w-“’--“h'%““1
AR AR 2N A A A A2 D e S S T A A A A AR AAA A BB S S NSNS
; 5
R R R T R R R e




Download From: MASTERTEST.IR

11-

12-
13-
14-
15-

AMWY axes pac () (pramasi 3 pogoc) (gudfil oLj

PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes |
each sentence. Then mark the correct choice on your answer sheet.

The two lawyers

their contract and each opened a separate office.
1) resigned 2) hindered 3) penalized 4) terminated
The police ordered the robbers to -———-— their weapons.
1) cease 2) settle 3) surrender 4) collapse
The nation’s economy was largely by foreign aid.
1} imported 2) sustained 3) disposed 4) accompanied
Unfortunately the current law --——--—-— any improvement in the country’s trade with
foreign countries.
1) impedes 2) compels 3) exposes 4) abstains
They are using that hall to hold their party - .
1} juncture 2) convention 3) intersection 4) circumstance
Talking about money now would be a from the main purpose of this meeting,
1) digression 2) detention 3) disputation 4) dispersion
There have been calls for the drug’s immediate -—————, following reports that it has
dangerous side effects.
1) protest 2) discharge 3) disposition 4) suspension

I have not read any of the previous chapters of this book, so you will have to give me a
brief

1) outlook 2) synopsis 3) panorama 4) prospect
Practical experience is an — part of this course.

1) integral 2) adequate 3) accelerated 4) expository
Some of these plants are more -———-—-- to frost damage than others.

1) inherent 2) forthcoming 3) susceptible 4) instrumental

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or }
(4) best fits each space. Then mark the correct choice on your answer sheet.

We have said earlier that climates are continuously changing. (11) -—--——--- until quite
recently that climates only changed significantly on very long time scales, over tens of
thousands of years. In the more recent past the changes in climate (12) ---------- are a result of
mankind’'s own activitics. Scientists have been able to reconstruct accurately the average
temperature of the Earth (13) ---------- years using millions of individual thermometer readings
(14) mmmemmms- world. The result seems to suggest that since the end of the 19" century the Earth
has warmed up by about 0.5 °C(1°F ). The warmest years all occurred in the 1980s. Although it
is not yet known for certain, (15) --=-e=-mm- explanation for this global-scale warming is the
increasing volume of pollutant gases that mankind is releasing into the atmosphere.

1) There thought 2) It was thought

3) It has been thought 4) There has been thought

1) we have seen 2) we saw them 3) that have seen 4) that saw them

1) over 100 last 2racross 100 last 3) over the last 100 4) across the last 100
1) of around 2) from around 3) of around the 4) from around the
1) likely most 2) most likely 3) the most likely 4) likely the most
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| Part C: Reading Comprehension

Directions: Read the following passage and choose the best choice (1), (2), (3), or (4).
| Then mark in on answer sheet,

Hmsa can haw:: a dr.tnmr:ntal e.ffect on ammals by causing stress, increasing risk of mortality
by changing the delicate balance in predator/prey detection and avoidance, and by interfering
with their use of sounds in communication especially in relation to reproduction and in
navigation. An impact of noise on animal life is the reduction of usable habitat that noisy
areas may cause, which in the case of endangered species may be part of the path to
extinction. One of the best known cases of damage caused by noise pollution is the death of
certain species of beached whales, brought on by the loud sound of military sonar. Noise also
makes species communicate louder, which is called Lombard vocal response. Scientists and
researchers have conducted experiments that show whales' song length is longer when
submarine-detectors are on. If creatures don't "speak" loud enough, their voice will be
masked by anthropogenic sounds. These unheard voices might be warnings, finding of prey,
or preparations of net-bubbling. When one species begins speaking louder, it will mask other
species' voice, causing the whole ecosystem to eventually speak louder. European Robins
living in urban environments are more likely to sing at night in places with high levels of
noise pollution during the day, suggesting that they sing at night because it is quieter, and
their message can propagate through the environment more clearly. Interestmgly, the same
study showed that daytime noise was a stronger predictor of nocturnal singing than night-
time light pollution, to which the phenomenon is often attributed. Zebra finches become less
faithful to their partners when exposed to. traffic noise. This could alter a population's
evolutionary trajectory by selecting traits and gapping resources normally devoted to other
activities.

16- The passage mentions that ..............

1) noisy areas cause reduction of usable habitat

2) proper sounds increase reproduction in animals

3) predators risk morality if they lose their balance

4) the effect of sound in animals’ life'is detrimental
17- It is stated in the passage that ................

1) beached whales sound like loud military sonars

2) endangered species are sensitive to any kind of noise

3) anthropogenic sounds can lead to voices being unheard

4) Lombard vocal response makes animal communication easier
18- The passage points to the fact that European Robins living in urban environments tend to

sing at might .........o...

1) only for necessary messages 2) due mainly to daytime noise

3) as they a have a elearer voice then 4) because of strong night light pollution
19-  According to the passage ............cccvuee.

1} submarine- detectors affect whales® songs
4)most evolutionary trajectories have several traits
3) nocturnal singing is usually due to pollution
4) traffic noise exposes Zebra finches’ faithfulness
20- The word *sap’ in the passage (underlined) is closest to ................
1) ‘replace’ 2) *achieve’ 3) *modify” 4} 'weaken’
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Deer are ruminants, or cud-chewers, and have a four-chambered stomach. The teeth of deer
are adapted to feeding on wvegetation, and like other ruminants, they lack upper incisors,
instead having a tough pad at the front of their upper jaw. Some deer, such as those on the
island of Rim, do consume meat when it is available. The Chinese water deer, Tufted deer
and muntjac have enlarged upper canine teeth forming sharp tusks, while other species often
lack upper canines altogether. The cheek teeth of deer have crescent ridges of enamel, which
enable them to grind a wide variety of vegetation. Nearly all deer have a facial gland in front
of each eye. The gland contains a strongly scented pheromone, used to mark its home range.
Bucks of a wide range of species open these glands wide when angry or excited. All deer
have a liver without a gallbladder. Deer also have a Tapetum lucidum which gives them
sufficiently good night vision. A doe generally has one or two fawns at a time. The gestation
period is anywhere up to ten months for the European Roe Deer. Most fawns are born with
their fur covered with white spots, though in many species they lose their spots once they get
older. In the first twenty minutes of a fawn's life, the fawn begins to take its first steps. Its
mother licks it clean until it is almost free of scent, so predators will not find it. Its mother
leaves often, and the fawn does not like to be left behind. Sometimes its mother must gently
push it down with her foot. The fawn stays hidden in the grass for one week until it is strong
enough to walk with its mother.

The passage mentions that ...................

1) some deer have enlarged upper teeth like elephants

2) the front upper jaw of deer is formed in a large flat pad

3) deer have lower incisors to let them feed on vegetation

4) ruminant cud-chewers have a four-chambered stomach

It is stated in the passage that .................

1} deer are exclusively plant eating animals

2) deer’s facial gland gives out a shape smell

3) deer’s back teeth i1s made of crescent enamel

4) Tufted deer consume a variety of vegetation

We understand from the passage that ..oooainnnnnnnnn.

1) deer have very small gall bladders

2) bucks’ glands make them angry or excited

3) the enlarged liver of deer helps them with their digestion

4) baby deer can easily getdetected at birth due to their smell

The passage points to the fact that fawns .................... after birth.

1) can have milk and soft grass 2 are not often with their mother

3) develop spots of various colours 4) are able to walk about immediately
The word ‘phrenome’ in the passage (underlined) is best related to the word ...............
1) * area’ 2) “signal’ 3) “‘cover’ 4) ‘gas’
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Intraspecific competition is a particular form of competition in which members of the same
species vie for the same resource in an ecosystem (e.g. food, light, nutrients, space), This can
be contrasted with interspecific competition, in which different species compete. For
example, two trees of the same species growing close together will compete for light, water
and nutrients in the soil. Getting less resources, they will perform more poorly than if they
grew by themselves (for example lowered growth rates and fewer seed output). Trees have
therefore adapted to grow taller or develop larger root systems through natural selection.
Grasshoppers provide an animal example. By eating grass, individual grasshoppers deprive
their fellow conspecifics of food. This is an example of exploitation competition, which
means that the grasshoppers do not interact directly with each other, but have a negative
effect on others' growth and reproduction by their effect on a resource (in this case, grass). In
other cases, intraspecific competition may be a case of interference competition, in which the
animals interact directly. This is the case, most notably, in territorial animals: some
individuals actively prevent others from exploiting a given resource, usually food or space.
Intraspecific competition is a major factor affecting the carrying capacity of a population
(maximum population level supported by the environment). The levelling of population
growth at high densities (known as density dependent inhibition) can be seen as an effect of
intraspecific competition. Indeed, whereas at low densities organisms do not compete for
resources, at higher densities resources become limiting, and the population size can no
longer increase.

It is stated in the passage that ..............reeeens

1) intraspecific and interspecific competition both depend on food

2) in exploitation competition competitors de not interact directly

3) there is not competition for the same resource in the same community

4) light is the main factor for which two trees growing close by compete

The passage mentions that ....... ...

1) animals and trees both compete for essential nutrients

2) trees of the same species normally grow close together

3) mterference competition in animals may concern space

4) lowered growth rates in plants causes fewer seed output

The passage points to the fact that ..............

1) larger roots in trees is a cause for natural selection

2) grasshoppers cannot enter interspectific competitions

3) competition stops at the earrying capacity of a growing population

4) density dependent inhibition is a matter of intraspecific competition

The passage deals with mainly with .................

1) ecological competition 2) inrraspecific competition

3) competition in animal populations 4) exploitation and interference competition
The expression ° fellow conspecifics” in the passage (underlined) refers specifically to
other ...BRL....

1) grasshoppers 2) insects 3) animals 4) oraganisms
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